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Year 12
History

Worksheet 4 - Answers

Question 1: Cross Word Puzzle on Causes of World War 2.

Across:
1. Blitzkrieg 6. Chuchill 7. Appeasement 9. Rearmament 10. Sudetenland
Down:

Rhineland 3. Chamberlain 4. Austria 5. Fuhrer 8.Poland

Question 2: Match the left column with the letter of the statement in the right column which best
describes it.

a. This country along with France declared war on Germany after Hitler
invaded Poland.

2. e. France b. This country made a non-aggression pact with Germany.
c. Hitler was appeased at the Munich Conference with a portion of this

1. d. Germany

3. 2 Britain country called the Sudetenland.
4 . d. This country was blamed for World War | and forced to pay huge
. g. Austria . . .
reparations to the victor countries.
5 ¢ e. This country fortified its borders with Germany except for an area called
= . |the Ardennes forest which they assumed could not be penetrated by a large
Czechoslovakia
army.
g'n—l?(')rslowa f. Hitler invaded this country only to get to the northern part of France.
7.1, Belgium 0. This country was unwillingly annexed by Germany in a move called the
= Anschluss.
8. h. Poland h. The invasion of this country sparked the beginning of World War 1.
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Question 3: Use the following resource to answer questions 1-3.

6 TRiedy OF CITIZENSHIP RIGHTS,
v v BANS INTERMARRIAGES

Sint I

THREATENS. OTHER STEPS
T0 SOLVE RACE. PROBLE}

1. Which law of Hitler is depicted in the resource above?

Answer: Nuremburg Law

2. Why did Hitler implement this law?

Answer: To take away German citizenship rights from the Jews.

3. How were the Jews affected by this law?

Answer: Deprived off citizenship, became second class citizens, exposed to ill-treatmant
and persecutions.
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